Graphing Solutions

Equation solutions - a point (a solid dot)

A solid circle states that the solution is the dot's value.

S+x=7

Inequality solutions - a point (solid or open) & an arrow

‘Solid dot: - solution includes that exact value
-usedwith  and < >

O Open dot: - solution does not include that exact value
-usedwith  and < >

<

Left arrow: - solution includes all values less
- used with<Zand < Only when 'x" is
— on the left!
. Right arrow: - solution includes all values greater
- used with > and >Only when 'x" is

— on the left!
Examples:
x<3
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Solution includes x=3 and every value less than 3.
x<3
e e e e e e
1 —
-5 -4 -3 -2 -1 0 1 2 3 4 5

Solution does not includes x=3 but includes everything less than 3 (like 2.9999)
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